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QUESTION 1

The following code is a part of an Activity class to create a dialog. Which is the Activity class method used to display this
dialog? 

A. void createDialog(); 

B. void createDialogfint id); 

C. void show(); 

D. void showDialog(int id); 

Correct Answer: C 

 

QUESTION 2

Which of these is the correct precaution when publishing an application update to the Android Market? 

A. The package name must be the same, but the .apk may be signed with a different private key. 

B. The package name does not have to be the same and the .apk can be signed with a different private key. 

C. The package name must be the same and the .apk must be signed with the same private key. 

D. The package name does not have to be the same, but the .apk must be signed with the same private key. 

Correct Answer: C 

 

QUESTION 3

Which of these is the incorrect explanation of signing an application? 

A. It is necessary to sign with the same certificate an for application update. 

B. It is necessary to configure the keystore file, including private key, for signing. 

C. Signing is required for installation of an application. 

D. It is required to use jarsigner for signing. 

Correct Answer: D 
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QUESTION 4

The DalvikVM core libraries are a subset of which of these? 

A. Java ME 

B. Java SE 

C. Java EE 

D. Doja 

Correct Answer: B 

 

QUESTION 5

The following figure shows the Activity Lifecycle. Which is the correct combination of event names that go into (1)~(4) 
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A. (1)onCreate (2)onStart (3)onResume (4)onRestart 

B. (1)onCreate (2)onResume (3)onStart (4)onReset 

C. (1)onConstruct(2)onStart(3)onResume (4)onReset 

D. (1)onConstruct(2)onResume (3)onStart (4)onRestart 

Correct Answer: A 

 

QUESTION 6

Which of these is the incorrect explanation of BroadcastReceiver? 

A. Receives an explicit Intent 

B. Receives an implicit Intent 

C. Receives a broadcast Intent 

D. Receives an Intent with a registered Permission 

Correct Answer: A 

 

QUESTION 7

Which of these is the incorrect explanation regarding the private key when an application is published? 

A. RSA cannot be used as the encryption algorithm for key creation 

B. Can be created by using keytool 

C. The debug key created by the SDK tool cannot be used 

D. Can store several keys in 1 key store file 

Correct Answer: A 

 

QUESTION 8

Of the size units which can be specified by Android, which is device independent? 

A.px 

B. dp (dip) 

C. sp 

D. pt 

Correct Answer: B 
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QUESTION 9

Which is not included in the Android application framework? 

A. WindowManager 

B. NotificationManager 

C. DialerManager 

D. PackageManager 

Correct Answer: C 

 

QUESTION 10

The following manifest file is used to conduct Android unit tests. Which is the correct description that goes into (1)? 

A. android test 

B. android.test.runner 

C. android.framework-tests 

D. android.framework 

Correct Answer: B 

 

QUESTION 11

Which of these is the incorrect method for an Application to save local data? 
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A. Extend PreferencesActivity and save in an XML file. 

B. Save as a file in the local file system. 

C. Save in the database using SQLite. 

D. Save in the hash table file using the Dictionary class. 

Correct Answer: D 

 

QUESTION 12

Which configuration file holds the permission to use GPS? 

A. Layout file 

B. Manifest file 

C. Source file 

D. Property file 

Correct Answer: B 

 

QUESTION 13

Which class in the wifi package holds Wi-Fi network configurations, including the security configuration? 

A. ScanResult 

B. Wifi Configuration 

C. Wifilnfo 

D. WifiManager 

Correct Answer: B 

 

QUESTION 14

Which of these is the correct function of the Ul/Application Exerciser Monkey (Monkey tool)? 

A. It can operate SOLite database file using the GUI. 

B. It can teach introductory operations to the users. 

C. It can emulate random user operations on a terminal. 

D. It provides a dummy application for testing. 

Correct Answer: C 
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QUESTION 15

Which of these is the incorrect description of this AndroidManifest.xml content? 

A. It is an executable application for terminals of Android 1.6 and later. 

B. The configured Activity is the Activity which will be the application endpoint. 

C. Since "android:label" is not set in the activity tag, nothing will be displayed in the application header. 

D. This application version is 1. 

Correct Answer: C 
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